R45H Mo AR F HE B X 1| %% & Lt EE 8 HE &£ NoBIN £ )
: iz K R|f2 K Rfid K Rifid K Rifid K Kfd K K K Kfic K K K R K R K K
A 5H10H | 5A10H | 58108 | 581080 | 5A108H | 58178 | 5H17H | 5H178H | 58178 | 5H178H | 5H17H
M °C 19.0 21.0 25.0 22.0 225 19.0 20.0 19.0 20.0 16.5 17.0
KR °C 16.0 18.5 18.0 19.5 16.0 185 17.5 15.0 17.0 19.0 17.0
#®m & 13 B H % (B
— e 100/8/mLEA T 0 1 0 0 0 0 0 0 3 0 0
KGE mshauce| R P4 P4 P4 P4 =4 e (=4 e (=4 £k
EXRUVZDMIEEY 001mg/LLUT | HBEHA] HRE HRE HREH HRE HRE A HBRE T 0.003 HRET HRE T HRET
NEZaLIEEY 0.02mg/LEL T 0.002Ki# | 0.002FKi# | 0.002FKi# | 00025k | 0.002%K#E | 0.002%KH
TN EYMRUEILS T [001me/LUT 0.0013R# | 0.0013K% | 0.001K{#E | 0.001KjE | 0.001FKjH | 0.001FKE
7 0.6mg/LLLT 0.065Ki# | 006K | 006K | 006Ki#E | 006K | 006K
HO0OBEEE 0.02meg/LELF 0.002:K7# | 0.0025Ki# | 00025 | 0.002Ki# | 0.002K# | 0.002KiH
vi=Inl, JIWN 0.06mg/LELTF 0.001 0.001 5K jifs 0.004 0.008 0.002 0.001 K i
CHO0OfEEE 0.03me/LELTF 0.003kj#% | 0.003%kj% | 0.003%kH 0.005 0.003Kji# | 0.003K;iH
oJaxEsOaaiey 0.1mg/LELTF 0.002 0.002 0.001K i 0.002 0.001 0.001
EEF 001meg/LELF 0.001Ki# | 0.001Ki# | 0.001Ki# | 0.001Ki# | 0.001Ki# | 0.001KiH
NI =P 3 0.1mg/LLLT 0.005 0.004 0.006 0.016 0.005 0.001
cJoOOERE 0.03me/LELTF 0.003k#% | 0.003%kj% | 0.003%kH 0.005 0.003FKji# | 0.003K;iH
JOESHOO0ALY 0.03mg/LELTF 0.002 0.002 0.002 0.006 0.002 0.001 K i
JOEHRILL 0.09me/LELTF 0.001Kj#H | 0.001FKj#H | 0.001FKH | 0.001FKiE | 0001k | 0.001FKHE
RILLFILTER 0.08me/LELT 0.008%i#% | 0.008%ki% | 0.008%ki% | 0.008ki% | 0.008%ki% | 0.008%k %
HRERUZDIEEY 0.3mg/LLLT HREE HRETT HREE HRET LAG] - LAL]
FIEZOLRUZFDIEEY [02meg/LUT HREAE] HHETA HRE] HHEA] 0.02 HBET
tEiemAA> 200mg/LEAT 3.7 7.9 6.3 6.4 36 6.8 6.9 26 3.7 35 35
Ay 3mg/LELTF 0.4 0.4 0.3 0.5 0.4 0.3 0.2 0.3 05 0.2 0.2
pH{E 58LIESGLLT |  7.17 7.19 7.02 7.14 7.40 6.95 6.71 7.22 7.31 6.96 6.65
73 2oanoe| BEELGL | BEAGL | EBAL | EELQL |  EBLGL | BEGL | BEGL | BEGL | BELL | BELL | BEELL
ER 2xoanoe| BEELGL | BEAGL | EBAL | EELGL |  EBLGL | BELGL | BEGL | BEGL | BELGL | BELL | BEELL
‘B SELLT B 1R 1R 1R 1R 1R 1R (] 1R 1R 1R
I 2ELLT 01K | 01K | 01K | 01K | 01K 0.15K & 0.1 il 0.15K & 0.1 il 0.1K & 0.1 5
WiEk R e %= B me/L 0.40 0.20 0.30 0.30 0.30 0.20 0.30 0.40 0.20 0.20 0.10




